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1. 7F % Rk 4T 4 iE % (A )Geophysics is the only branch of the Earth Sciences that
can truly ‘look’ into the solid Earth. (B ) Geophysical surveys often provide less
precise information but over a much larger volume of rock. (C) Geophysical
surveying can give information about the present and the past. (D) Geophysics
can replace geology. (E )Geophysics can provide more information in depth than

traditional geology.

2. TFFIAREbA A A ERE ? (A) A set of measurements made with a geophysical
instrument is called data acquisition. (B) The instrumental readings are taken
along a line or traverse. (C) Each place where a readings is taken is called grid.

(D) Signal is not sound but simply unwanted variations or fluctuations being
measured. (E) Anomaly is the readings to be removed before the interpretation.

3. TFTHHEFEREEERBETEHLERYERE? (A) contouring (B)
isometric projection (C) stacked profiles (D) false illumination (E) fence

projection.

4. TFF4THE# ? (A) Filtering is an alternative way of rejecting unwanted
wave-lengths or frequencies. (B) Sampling intervals is the whole length of time
or space that be measured or processed. (C) Low-pass filter lets the wavelength
longer some value “pass through”. (D) n-points moving average filters are
always used to the “high-pass” one. (E) n-points moving average filters for

where n must be even.
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1. Which star will likely end up its life as a black-hole?
(a) White stars (Temperature > 20,000K).
(b) Low-mass stars (Mass < lM@).
(c) Very high-mass stars (Mass > 20M o)
(d) Neutron stars.

2. Two stars have apparent magnitudes of respectively ma=2.6 and mg=3.5. Their
absolute magnitudes are respectively M= -5.2 and Mp= -4.3. Which one is the
further from us?

(a) Star A.

(b) Star B.

(c) They are at the same distance.

(d) I do not have enough information to tell.

3. What 1s the main reason why Earth 1s not covered by craters like the Moon?
(a) Because of the Atmosphere.
(b) Because of Geological activities.
(c) Because of the Moon.
(d) Because NASA has set up a very efficient safety system with satellites.
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4. You are given two telescopes with the following specifications:

Telescope A: Primary mirror with 0.1 meter aperture, Focal length of 600 mm
Telescope B: Primary mirror with a 1.0 meter aperture, Focal length of 9.0 meters
Assuming the same eyepiece or camera is used on both back-end, which telescope
will have a larger field of view?

(a) Telescope A.

(b) Telescope B.

(c) They are both the same.

(d) We need to know the magnification power to tell!

5. Which object is moving the fastest?
(a) The high-speed train (HSR) relatively to the Earth.
(b) The Earth relatively the Sun.
(c) A galaxy relatively to the Cluster of galaxies that hosts it.
(d) A galaxy at redshift z = 0.1 relatively to us.

6. What is the current strongest evidence for the existence of Dark Matter?
(a) It has been detected in a particle accelerator.
(b) It is needed to explain the rotation curves of Spiral Galaxies.
(c) Without it we cannot explain the formation of large-scale structure.
(d) Dark Matter is no longer needed in modern Astrophysics!

7. Stars are classified by spectral types according to their surface temperature or color.
How are ordered these spectral types from the bluest (hottest) to the reddest
(coolest)?

(a) ABFGKLO.
(b) OBAFGKL.
(c) OFGKLAB.
(d) ABCDEFG.

8. Which of the following IS NOT an evidence for the Big-Bang Theory?
(a) The age of the stellar globular clusters around the Milky Way.
(b) The primordial Nucleosynthesis (fraction of Helium over Hydrogen).
(c) The 2.7K Cosmic Microwave Background.
(d) The recession of galaxies (Hubble law).
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9. Which morphological type of galaxies is more common in the local Universe?
(a) Irregular galaxies.
(b) Elliptical galaxies.
(c) Merging galaxies.
(d) Spiral galaxies.

10. Were are comets mostly originated from?
(a) The Kuiper belt beyond Saturn.
(b) The asteroid belt between Mars and Jupiter.
(c) The cloud of Oort beyond our Solar System.
(d) The circumnuclear ring around the galactic center.

L THRFPFFEXRRBAGRABE TR BEERZFRAGLE O )
2. BEXZREMT?IC ) RONBHEE T oMEERNBEYC 5)
3. 4738 # K J1 (Coriolis force)? (3 #°) FH M EHM? G o) MF B R

(geostrophic current)? (3 %)



